

**Risolvi ogni operazione.****Risposte**

1)  $(47 - 17) : 3 =$  \_\_\_\_\_

1. \_\_\_\_\_

2)  $(12 : 6) - 1 =$  \_\_\_\_\_

2. \_\_\_\_\_

3)  $(9 \times 9) + 5 =$  \_\_\_\_\_

3. \_\_\_\_\_

4)  $(7 \times 6) \times 3 =$  \_\_\_\_\_

4. \_\_\_\_\_

5)  $(3 + 8) + 6 =$  \_\_\_\_\_

5. \_\_\_\_\_

6)  $(2 + 3) - 2 =$  \_\_\_\_\_

6. \_\_\_\_\_

7)  $(7 - 2) + 3 =$  \_\_\_\_\_

7. \_\_\_\_\_

8)  $(56 : 8) \times 4 =$  \_\_\_\_\_

8. \_\_\_\_\_

9)  $(9 \times 3) - 5 =$  \_\_\_\_\_

9. \_\_\_\_\_

10)  $(4 - 1) \times 4 =$  \_\_\_\_\_

10. \_\_\_\_\_

11)  $(16 : 4) + 13 =$  \_\_\_\_\_

11. \_\_\_\_\_

12)  $(20 - 5) - 7 =$  \_\_\_\_\_

12. \_\_\_\_\_

13)  $(46 + 2) : 6 =$  \_\_\_\_\_

13. \_\_\_\_\_

14)  $(6 \times 6) : 10 =$  \_\_\_\_\_

14. \_\_\_\_\_

15)  $(7 + 1) \times 6 =$  \_\_\_\_\_

15. \_\_\_\_\_



Risolvi ogni operazione.

1)  $(47 - 17) : 3 = \underline{10} \quad (30) : 3$

2)  $(12 : 6) - 1 = \underline{1} \quad (2) - 1$

3)  $(9 \times 9) + 5 = \underline{86} \quad (81) + 5$

4)  $(7 \times 6) \times 3 = \underline{126} \quad (42) \times 3$

5)  $(3 + 8) + 6 = \underline{17} \quad (11) + 6$

6)  $(2 + 3) - 2 = \underline{3} \quad (5) - 2$

7)  $(7 - 2) + 3 = \underline{8} \quad (5) + 3$

8)  $(56 : 8) \times 4 = \underline{28} \quad (7) \times 4$

9)  $(9 \times 3) - 5 = \underline{22} \quad (27) - 5$

10)  $(4 - 1) \times 4 = \underline{12} \quad (3) \times 4$

11)  $(16 : 4) + 13 = \underline{17} \quad (4) + 13$

12)  $(20 - 5) - 7 = \underline{8} \quad (15) - 7$

13)  $(46 + 2) : 6 = \underline{8} \quad (48) : 6$

14)  $(6 \times 6) : 10 = \underline{3 \text{ r}6} \quad (36) : 10$

15)  $(7 + 1) \times 6 = \underline{48} \quad (8) \times 6$

**Risposte**1. 102. 13. 864. 1265. 176. 37. 88. 289. 2210. 1211. 1712. 813. 814. 3 r615. 48



Risolvi ogni operazione.

**Risposte**

120

3

9

14

64

10

4

72

2

4

1

6

17 r2

46

18

1)  $(47 - 17) : 3 =$  \_\_\_\_\_

2)  $(12 : 6) - 1 =$  \_\_\_\_\_

3)  $(9 \times 9) + 5 =$  \_\_\_\_\_

4)  $(7 \times 6) \times 3 =$  \_\_\_\_\_

5)  $(3 + 8) + 6 =$  \_\_\_\_\_

6)  $(2 + 3) - 2 =$  \_\_\_\_\_

7)  $(7 - 2) + 3 =$  \_\_\_\_\_

8)  $(56 : 8) \times 4 =$  \_\_\_\_\_

9)  $(9 \times 3) - 5 =$  \_\_\_\_\_

10)  $(4 - 1) \times 4 =$  \_\_\_\_\_

11)  $(16 : 4) + 13 =$  \_\_\_\_\_

12)  $(20 - 5) - 7 =$  \_\_\_\_\_

13)  $(46 + 2) : 6 =$  \_\_\_\_\_

14)  $(6 \times 6) : 10 =$  \_\_\_\_\_

15)  $(7 + 1) \times 6 =$  \_\_\_\_\_

1. \_\_\_\_\_

2. \_\_\_\_\_

3. \_\_\_\_\_

4. \_\_\_\_\_

5. \_\_\_\_\_

6. \_\_\_\_\_

7. \_\_\_\_\_

8. \_\_\_\_\_

9. \_\_\_\_\_

10. \_\_\_\_\_

11. \_\_\_\_\_

12. \_\_\_\_\_

13. \_\_\_\_\_

14. \_\_\_\_\_

15. \_\_\_\_\_